Mathematics
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b. Principal, P= Rs.4000, Time =3yrs

C.I=Rs.1324
A=P+C.I=Rs.4000+Rs.1324=Rs. 5324
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B =10%
c. Observation = 11, 12,14, (x-2), (x+4), (x+9), 32, 38, 47
Given median = 34
[2+1T%
[— J itein
If n is odd, Median = 2

th
i F—;l] item= 5™ item

e x+d =24
x=24-4=20
11+12+ 14+ 18+ 24+ 29+ 32+ 38+ 47
Maan = 5
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II. a. Let the number added to be then
6+x, 15+x, 20+x, 43+x

Product of extremes = Product of means
ie (6+x) (43+x) = (15+x) (20+x)



258+6x+43x+x% = 300+15x+20x+x>
258+49x = 300+35x
49x-35x = 300-25
14x = 42

_ 42, _
X = /14—3

b. P(2) = 2(2)3+a(2)*+2b-14 =0
16+4a+2b-14 =0
4a+2b = -2 - 1
P(3) = 2(3)3+a(3)?+3b-14 = 52
54+9a+3b-14 = 52
9a+3b+40 = 52
9a+3b =12 ~—-——mmmmem- 2
1%3 12a+6b=—6
2x2 T18 +6b="24

—fa =-30
a=35
1= 20+26=-2
2b =22
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Let the poinrt where the joining lines cut each other be ‘A,
Draw a perpendicular line from point A onto the x-axis.
The point 'P' where the perpendicular will meet the x-axis

will give the mode.

Hence mode = 14 2 appro:

In the Graph paper

I1I. a.

cogal =cos (30 -10)
=sn 10
and%=sn{?0-310
=cos 31
=~ 300s80" cosec1 (" + 2 5in 59 zec 31°
=25in 10" cosec10” + 2cos 31" zec 31°
=3+2
=5



ZBAD = 65", £ARD =70", #BDC =45"
(i) In A ABD
z4=65"and £B=70" (given)
ZA+ ZB+ ZADE =150
65+70 + £ADB =180"
135+ <408 =180"
LADB =180-135 =45"
0 =45" 445" = 97"
= AFrom AABD

ZBAD+ £ADB+ <DNBA=18"
65" + £ADB +70" =180°
ZADE =180" — (65" +70M
=180" -135" = 45"
Since #ADB =45", 2 ACE = 45" (angle on the same are)

Al C B
(3, -7) -2, 5)

A=(3,-7) and centre (-2,5)



(1) Length af radius AT = .J{xj —x) (- yp)?

=Jarnt r=7-5)7
=25 4144 =169 =13cm

(1) Coordinate af point B be(x, y)

s Coordinate of 0 = coordinates of midpoint
af AR (Since AR — diamelter O —cantre)

Itx 74+
_2,5= x, A

2 2

34
e 32 34x=-4
2
= r=—4-3=_7

T+ y

5= = y=10+7=17

Leoardinate of B are (=117

IV. a.

A —Sx—10=10

[Fsin g Formida

S+.f25—4x1x—10
r=

2x1

525440
- 2
_5x4J65

2

_ 5+8.062
2
548062 5-3.062

2 2
13062 —3.062

o2 2
= 6531, —1.531
= 6.53 —153




b. (1)

A ABC ~ADREC
In A ABC and A DEC . . 1B
LCDRE = £CAB
(DRI AB)
LCORD = ZCBA (DEIAB)
oA ABC ~ ADEC (by AA similarity) B E

ii) AB=6cm, DE=4cm
Ac=15cm, CD=?

I AACE and ADCE
AE AT
DE  DC
ig E = E (Lot DT be 1)
4 x
= bx =60
===
C0 =10cm

X

10

iii) Ratio of area of two similar Triangle is equal to the squares of their corresponding sides
soArea of A ABC: area of ADEC
=6 4
=36:16
=188 =54

c. (D
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ii) A'=(-6,-4) and B'=(0,-4)
iii) ABA'B' is a quadrilateral.

iv) AB=4cm, BA'=10cm, A'B'=6cm, B'A=10cm

therefore perimeter = 4+10+6+10 = 30cm

V. a.
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VI. a.

mpln+1) =37 111
months =

Hme = anths = = —yrr
2xl2 2
7= PrR=xT P=xixlll B888F
100 200 200
A=wnp+7i
088 = 364"-7'4—w
200
al88  TI00F +588F
1 200
BOEEF = 8088 = 200
F :M: Fr 200
B085

(i) Totalinvestment = Market vaiue » number of shares
=132x350
= 6600
(i) Dividend =7.5%
Sokis income from one share =T 5% of e 100

= EX1|:||:|= Rs'1.50
00

His annual income =750 x50
= REz375
(111) He 7. 50 can besarned from one share
SRz 150 can be earned from

L><15IZI = 20 shares
7.50



l—casd  sind
l+cos A 14cos 4
Multiphing congigate on both sides on LHE

LHE 1l —cos Al —cos A)
l4+cos A=l—cos A

1l —cos A _J(l—cns A _l—cos 4
NV 1—cesfa -
l-cosAd l+cord 1—cos® 4

" sin 4 x1+cnsﬂ_sinﬂ(1+cusﬁl)

4 }
sin” A sin A

_ sin® 4 sin 4 _snd
sin A(l+cosd) 1+cosd
=RHS
b.
given ZABC =100"
Z400 = 410"
Since ZABC =100"
zADc =180" —100" =50°
T ira tan genttothe circdeat O
ZBCD =30"
ZBCA + £ACD = 90"
ZBCA +40 =90"
2B = 50"
C.
Min. balance between Min. balance in nearest
Month :
on 10™ day and last day ~ multiple of 10
February ‘Rs. 4500 ‘Rs. 4500
March  Rs. 4500 2z o0
April  Rs. 4500 Rs. 4500
May  Rs.6738 Rs. 6740
June  Rs. 1738 Rs. 1740
July  Rs.7738 Rs. 7740

Adding P= Rs. 29720




1
F =R 20720 ,R:4L:E,T:_
2 2 12
8 1
29720 —x —

f=— & 12 _poy1145
100

= Rs 11 1{ Rounding )

VII. a. The Coordinates of the midpoints D of the side be are
T+1 8+ (-10)
2 2
ie (4,-1)

Hauation of AD iz v-0= _41_35 (x=3

iey—ﬁz_Tﬁ(x—B]l

y-5=-6(x-3
y=—fx+1E+5
y=—ftx+23

b. As the VAT is paid on the value added to 12% of value added by the shopkeeper = Rs. 36
— 100, —

Value added by the shopkeeper = Rs.36x/,,=Rs.300

Profit = Rs.300

price of article paid by shopkeeper to the wholesaler = Rs. 1500-300=Rs.1200
therefore VAT paid by the shopkeeper to the wholesaler = 12% of Rs. 1200

12 —
=12/, ,X1200=Rs.144

Hence price of article inclusive of VAT which the shopkeeper paid to the wholesaler
= Rs. 1200+Rs.144
=Rs.1344



(1) In right angled AABC
AfS
a8

60
3= ——
V2 c

5

60 A3 6043

c:ExE: :

=20=1.732 =34 adm
(1) 7m right angled A ARD

tan " =

B

1 AR

NPT

. AR =20m
CD=5R=AF-AF=60-20=40m
haight of lamp posi=40m

xr Sx|lZ 5
b ol
2x+3x 5
LH@]:LE]
sx=5x=1
VIIL a. fy=12,y=2



Radius af sphare =15cm

4 22
Volume af spkere:;x 7><15>< 15x15

=2?—2>c2|:| % 225cm°

Radius of cone = 2 5cm

Height of cone =3cm
1 2z

Volume of come= —x —x 2. 5% 2 5%8
37

Volume of sphare
MNo.af cones recast = 7 =P

Volume af cane

?x 20=22%

lexz_ﬂxz.SxE
307

225%3
2.5

=270

c. Equation has real and equal roots
ob —dac=1
Herea b=p-3 a=1, T=p
i2(P—3¢ —4xlxP =0
PP 6P+9-4P =0
PP_10P+3=0
(F—9)(P-11=0
F=0arl

IX.



1 1
a. Area c:'fz.tﬁz portion af circle = 4—3:?"2

:lexE.S =35
4 7

:11><I].5x3.5 0§95

|
Area af ACAD = Eb}z

1
:Ex}ﬂxzcmgziﬂcmj

Area af portion =9.625-3.5=6.125m"

b Let the numberaf black balls bew
Numberaf wkite balls =30

o prabability of drawing ablack ball a = "
0+

3a

Probability of drawing a white ball =
30 +#

Now, from question
7 1 30
=—x
0+ 5 30+=#

. B =0

~MNaaf blackballs =6

c. Shop Deviation method



Ydif

A=a+i
di =mi—s5 di :E
10
Classinievel ClassMark Frequency di=wi—a o :? difi
20-30 25 10 - 30 -3 =75
30-40 35 6 - 20 -2 =70
4050 45 8 =10 -1 —45
5060 35 12 0 0 0
60770 65 5 10 1 65
7030 75 g 20 2 150
2A=50 Ldif =25

R S,

Ji

=55 +1.IZ:I.E
50
=55+5=460
X. a.
C
P
Bem
A 3.5cm B
)

ii) Draw a circle with BC as diameter.
Draw angle bisector of

iii) Measure the angle

b.

D)



Marks Noaf students o f

0-10 5 5

10320 g 14

20 —30 14 3a
30—-40 22 52
40— 510 2f 73
50—4a0 13 96
a0 —"70 11 107
F0—E0 fi 113
20—90 4 117
S0 -100 3 120

th
_ a1
Median=— term

th
120
=—— term
2
th
=60 term
160
140
- 120 =
* "
«©
.. 100
80
60
40
20 4
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X axis

ii) Using graph we can find number of students who obtained more than 75% marks in the text (120-
113=7)

iii) Write from the graph (52)

iv)



XI.

a. Point P (¥ ,) on AB divides

AB inratio 2:3ie L : M =2:3

Let the co-ordinate of A be (x,0) and B be (0,y)
then

Ix, +mx Iy, +my _ 34

]

lvm | l+m
dxl+3wx Zwy+3Ixl

243 243
ig 3—x:—E,Z—"‘P:yE

5 5

r==5 y=110

s Coordinate of dand B are (=5, 00 and (0,10)

3,4

el 17

25t 8

By wsin g camponends and dividends

el 2xt 17+8favd c+d

PO b 17-3@-& c—dJ
2.2

— (x"+1)° 25

(17 9
el s
-1 _E
S xi=5-1=4
ar x==%2
F=3+1=4

x=%2



Let the no af hooks ke y
and costaf arebook =x
L=l 1

Accarding togan.

(x=8){y+4) =260

o+ yx—dy—32=960

960+ yx— 8y —32 =260 [y = 260]
yx—By =32

(B+2y)1y =560
2y° + By — 960 =0
¥ +4y—480=10
(y+2y) (y=-200=0
v =20 v cannot be negative]
_ a0

=48
20

S



